.
SOCIOLOGY HSSC- @ \
SECTION — A (Marks 20)

Time allowed: 25 Minutes [Version Number [3 [3[7[1]

Note: Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over fo the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Choose the correct answer A B/ C /D by filling the relevant bubble for each question on the MR

Answer Sheet according to the instructions given there. Each part carries one mark.

rmma

1) What does Sociology study?
A Economics B. Literature
C. Human society D. Individual affairs
2) Organization of facts is called:
A Hypothesis B. Observation C. Theory D. Experiment
3) Who is the doctor of society? :
A. A Sociologist B, A Psychologist C. AHistorian  D. A Poet
4) Boxing is an example of: i
A. Physical interaction - B. Symbolic interaction
C. Social process . D Social action
5) The door of human social life is:
A Status B. Social interaction
C. Crime D. Ethnocentrism
6) Minimum number of people required for formation a group is:
A Four B. Three C. - Two D. Five
7) Which of the following is an achieved status?
A Age B. Syed L C Gender D. Daoctor
8) Which of the following is a law making organization?
A Social group B.. Economic institution
C. Supreme Court D. National assembly
9) Which of the following is a Sin?
A Violation of social sanction . B Committing a ctime
C. Violation of social norms . D Viotation of social conirol
10) Sociat system of animals is based on: _
A Heredity B. Interaction C. Groups D. Food
1) What do cutural differences bring in a society?
' A Sociai change B. Homogeneity C. Development D. Distraction
12) Base of a human society is:
A. Psychology' B. Institutions C. Status D, Sociology
13) If & man marmies two or more women af a time, it is called:
A. Polygamy B. FPolyandry C. Monogamy ‘D. Endogamy
14) General Elections is the responsibility of:
A Re!igi‘ous Institutions B. Political Institutions
C. Educational Institutions D. Reacreational institutions
18) The belief is a part of:
A Palitics B. Economics C. Religion D. Family
16) Who is the head in a patriarchal family?
A. Mother B. Father C. Grandmother D. Grandfather
17) Increase in pay is a type of __ social mobility.
A Vertical mobility B. Horizontal mobility
C. Territoriat mobility D. Intergenerational mobility
18) Which of the following is NOT a demerit of social stratification?
A Hatred behaviour B.  Social control
C. Exploitation D. Crime and violence
19) Which of the following is a formal positive sanction?
A.  Admiration o B.  Certficate / Medal
C. Lie D.  Threat
20) Celebration of Eid and other events by all segments of society is called:
A Cultural variability B. . Cultural similarity
C. Cuiltural diffusion D, Cultural assimilation
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Time allowed: 2:35 Hours

SOCIOLOGY HSSC-

10

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B(b)’ and any three questiéhs
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

Q.2

Note:

Q.3

{vi)
{vi)
{viil)
(ix)
(x)
(i)
{xi)
(xiii)
(xiv)
(xv)
{xvi)
(xvii)
(xviif)
(xix)
(xx)
{xxi)

b.
(i)
iy

SECTION — B (Marks 50)

Answer any FIFTEEN parts. The answer o each part should not exceed 3 to 4 lines. (15 x 3 = 45)

Write down any six important topics of the subject matter of sociology.

Define sociology.

What is science? .

Write any three characterises of sociclogy as a science.
Briefly explain role of a sociologist in solving social problem.
Write down types of conflict. |

Write down any six types of social groups.

Write briefly about types of status.

What do you mean by Folk Ways?

Define values.

What is fraditional scciety?

Define culture according to Linton.

Write down elements of social institution.

Define 'family institution’.

What is formal education? ‘

Write down the functions of educational institdtes.

Define ‘political institution’. 5

What do you mean by recreation? _

Define social stratification according to Roucék and Warren.
Write down types of interaction.

Write down the types of social mobility.

Attempt any ONE part.
Differentiate between social interaction and social action.
Briefly justify that sociology is a social science.

SECTION — C {Marks 30)

Attempt any THREE questions. All questions carry equal marks.

Write a detailed note on subject matter of sociology.

Q.4 What is meant by conflict? Explain its types in detail by giving examples.

Q.5 Whatis éocial group? Explain one of its types in detail.

Q.6

Define social norms. Write a detailed note on any one of its type.

—— 1HA 1837—
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